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m Answer the questions.

1. What is the best word for the blank?

There are many great examples of detective
fiction in literature. Many famous authors,

Arthur Conan Doyle, have written
popular novels featuring quirky detectives

solving crimes.

a.asin b. therefore

c. such as d. for long

2. Which word does NOT correctly match with
its meaning?

a. curate: to organize items

b. title: to give a name

c. mottled: of one solid color

d. toxic: poisonous

3. Which pair does NOT have the same relation
as the sample?

<Sample> big : huge

b. harsh: difficult
d. preserve: damage

a. aroma: scent
c. external: outside

4. Which pair does NOT have the same relation
as the sample?

<Sample> fast: slow

a. limit: endless b. injure: heal

c. professional: skilled d. original: copy

5. Which word has the closest meaning to the
underlined word?

They wanted to create a new rock band.

b. establish
d. heritage

a. teem
c. elaborate

6. Choose the option that best fits the blanks.

dOGUMENTA is an unusual art show
(A) by Rocky, the dog. The show
displays (B) , interactive art for dogs.
(A) (B)

a. curate engaged

b. curated engaging

C. curating engage

d. curated engaged

7. What is the correct word for the blank?

Living among the reefs, many different
species over the
millennia. As a result, various, strange

adaptations have occurred over time.

a. is developing b. are developed

c. have developed d. have developing
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8. What is the passage mainly about?

*’( Compass

10. What is “fthis problem]” in the passage?

Garlic has a long history of use. From
medicinal properties, to keeping away evil
spirits, many have believed in the power of
garlic over the centuries. In addition to its
health benefits, this bulb has become a
common and delicious ingredient in many
culinary traditions.

Invasive species have taken over and
changed many ecosystems in the sea.
Another threat to the sea is overfishing.
Overfishing has caused a depletion in the
natural population of many fish and other sea

life. To solve [this problem|, they have put

different regulations into place.

a. how garlic is grown

b. why many people grow garlic
c. the many uses of garlic

d. why the bulb is delicious

9. What is NOT true about the passage?

First aid consists of five stages: Safety,
Response, Airway, Breathing, and Circulation.
The three aims of first aid are: to preserve life,
to prevent further injury, and to promote
recovery. Although limited, first aid assistance

can help save lives.

a. There are three aims of first aid.
b. First aid is used to prevent further injury.
c. There are five stages to first aid.

d. Circulation is one of the three aims of first aid.

Publishing

a. There are too many invasive species in the sea.
b. There are too many fish and other sea life.
c. Sea life is being depleted by overfishing.
d. Ecosystems are being depleting.

11. Choose the correct forms.

Mumtaz Mahal was the second wife of
Emperor Shah Jahan. The emperor became

very (A) [distressing / distressed | following

his second wife's death. So much so, that he

(B) commissioning/ commissioned | the

construction of a huge mausoleum known as
the Taj Mahal.

(A) (B)
a. distressing commissioning
b. distressing commissioned
c. distressed commissioning
d. distressed commissioned

12. Choose which is NOT correct.

Many famous writers have (A) written
detective fiction. Raymond Chandler is (B)
probably the most highly (C) regard. Chandler
created the (D) archetype for private
detectives to follow.

a. (A) b. (B)
c. (C) d. (D)



13. What is most appropriate for the blank?

Blockchain creates records of transactions.
Like links in a chain, , it

is very difficult to change them later.

a. when they're finish

b. once they're connected
c. the metal is solid

d. shipments are connected

14. Read the passage and complete the Wrap
Up chart.

Born in 1874, Edison was a famous American
inventor. One of his first jobs was on a train.
He developed inventions while working there,
including a transmitter and receiver for the
automatic telegraph. He went on to help
develop electric light bulbs as well as motion

pictures.

About Edison Edison's Inventions

transmitter and

receiver

American inventor

15. Read the passage and complete the cause
and effect chart.

Ice cream is a frozen confection of unknown
origins. However, it is suspected that it
evolved from ancient civilizations that started
freezing juices and wines. Nowadays, ice
cream is mass-produced all over the world.
This is thanks to the continuous-process

freezer.

Production Origin

largely unknown

all over the world

Score:

/15



